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Identify the product in the following reaction:

CH, -CH,~CH =CH,—2Br
H,0,
Convert Ethylene to Acetylene.

How would you distinguish between 1-butene & 1-butyne, by a chemical
test. Give justification.

@ qalba eraIFEe @R SRR %19 (CH;),CO @2 CH;CH,CHO
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CH, -CH, -CH=CH,—2L ,
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Write short notes on:

Ozonolysis ; Addition reaction.

How would you convert HC=CH to CH;COCH; and CH;CH,Br to
CH;CH,OH.

Identify the reagents for following transformation:
- ‘
H2C = CHQ ;O;

()
R-CH=CH-R -———3» R-CH-CH-R
OH OH

5+3+2




